@ RESTORATION AND CUSTOM PICKUP PARTS J

BED PARTS ASSEMBLY GUIDE
58-59 GM SHORT FLEETSIDE

If you have not yet disassembled your original bed, make notes and sketches and take pictures of part
locations to aid in the assembly procedure. Use the following steps to assemble the entire bed to test fit all
parts.

1.

Begin with one bedside and the front bed panel. Bolt the front bed panel to the inside of the bedside
flange with (5) 5/16"-18 x 3/4" indented hex washer head bolts, (3) 5/16" lock washers and (3) 5/16"nuts.
Two of the 5/16" indented hex head screw thread into a plate welded in the curl area of the front bed
panel.

Finish bolting the front bed panel to the other bedside in the same manner.

Fit the rear cross sill into the rear stake pockets that are part of the bedsides. The large brackets of the
rear cross sill should be facing toward the front bed panel and the open side of the rear sill should be
facing toward the ground.

Bolt the rear sill in place using (8) 5/16"-18 x 3/4" indented hex washer head bolts, with lockwashers and
nuts as needed.

Once the four pieces of the bed are assembled, make sure the bed is square. Measure from the front of
one bedside to the rear of other bedside in a crosswise pattern. Do this in both directions. These
measurements should be within 1/16" of each other.

Measure the bed width at the top and bottom of the bedsides to ensure that they are straight up and
down and are 72" apart on the inside where the wood attaches to the bedsides. Now tighten all bolts.

Place the assembly horizontally on supports such as sawhorses to gain access to both the top and
bottom of the floor area.

Re-install wheel houses if removed. The bottom flange of the wheel house sits on top of the bedside
lower flange. The wheel house is attached to the bedside with 5/16"-18 x 3/4" indented hex washer head
bolts as needed.

6625 WEST WILSHIRE BLVD. OKLAHOMA CITY, OK 73132 (405)721-7945 FAX (405) 721-8906
www.mar-k.com



Note: The following sequence of steps #9 through #18 are for locating and drilling of all holes needed in the
boards that attach to the bedsides and the wheel houses. All bolt holes should be drilled in the boards
before any finish is applied. Use care to prevent the bare boards from getting dirty or greasy. Be sure the
work surfaces are clean and free of oil, and wear clean cotton gloves when handling the unfinished boards.
Bolt holes will be located by test assembling the bed and using the metal bed parts as a guide for marking
the hole locations.

0.

10.

11.

12.

13.

14.

15.

16.

Install the long boards that measure 4-15/16” wide under the bedside wheel house flange.

Install the short boards that measure 4-15/16” wide under the lower bedside flange in front and behind
the wheel house. The front boards, 20-1/16" long, rest on the front bed panel lower flange. The rear
boards, 19-7/16" long, rest on the rear cross sill ledge. You may need a helper to hold these short
boards in place until the short bed strips are installed and temporarily bolted to the wheel house flange.

Place the short bed strips between the short boards and the long boards to ensure the correct spacing
and position. The front bed strip is 20-1/16” long and has two holes close together at the front bed panel.
The opposite end goes toward the wheel house and slides under the wheel house flange but on top of
the boards. The rear bed strip is 19-7/16” long. The end that has a hole 1/2” from the end slides under the
wheel house. If using MAR-K’s custom bed strips with hidden fasteners, follow the instructions supplied
with the bed strips for correct installation.

Install 1/4"-20 x 1-1/4" carriage bolts through the wheel house flange and through the short bed strips
where the bed strips slide under the wheel house flange. These bolts will pass between the short edge
board and the long board. Use a 1-1/2" outside diameter flat washer and 1/4" nut temporarily under the
boards to hold the wood boards and short bed strips to the wheel house flange.

Install the short boards, with only one side grooved, under the lower bedside flange in front and behind
the wheel house. The non-grooved edge goes under the bed side flange. These boards measure 4-7/16"
wide. The front boards, 20-1/16" long, rest on the front bed panel lower flange. The rear boards, 19-7/16"
long, rest on the rear cross sill ledge. These boards will have the rear outer corner notched out 2” x 2-1/2”
to clear the rear stake pocket. You may need a helper to hold these short boards in place until the short
bed strips are installed and temporarily bolted to the wheel house flange.

Place the short bed strips between the short boards as in step 11 to ensure the correct spacing and
position. The front bed strip is 20-1/16” long and has two holes close together at the front bed panel. The
opposite end goes toward the wheel house and slides under the wheel house flange but on top of the
boards. The rear bed strip is 19-7/16” long. The end that has a hole 1/2” from the end slides under the
wheel house.

Install a 1/4"-20 x 1-1/4" carriage bolt through the rear bed strips to the rear cross sill and a 1/4"-20 x 1-
1/4" carriage bolt through the front bed strips to the front bed panel lower flange. Allow about 1/16" gaps
between the bed strips and the bed wood grooves and hand tighten bolts just enough to hold the boards
in position.

Mark the bedside flange hole locations on the short edge boards. Be sure the edge boards are in the
correct position and they do not move as you mark the holes. The outer ungrooved edge of the short
boards should be about 1/8" inboard from the outside vertical surface of the inner bedside. Use a pencil
to trace the square bolt holes in the bedside flange on to the top surface of the edge boards.

6625 WEST WILSHIRE BLVD. OKLAHOMA CITY, OK 73132 (405)721-7945 FAX (405) 721-8906
www.mar-k.com



17.

18.

19.

20.

Mark the wheel house flange hole locations on the two long boards. Again use a pencil to trace the holes
in the wheel house flange on to the board surface. There will be 5 holes marked on each of these boards.

Remove the long and short boards and drill all the holes with a 3/8" drill. Be sure to drill exactly in the
center of each square marked in steps 16 and 17 above. Remove splinters and sand down the rough
edges around the holes. Minimize splintering by clamping a scrap piece of wood under the board and
drilling through the board into the scrap wood. The second short board inward from the bed sides will not
get drilled.

Install the outer short edge boards, cross sills. All the cross sills in front of the wheel house must be
positioned so the holes punched in the side of the cross sills face toward the rear of the truck. All cross
sills placed behind the wheel house must be positioned so the holes punched on the side face towards
the front of the truck. Use 5/16"-18 x 1 1/2" carriage bolts to connect them to the bedside flanges. The
bolts pass through the bedside flanges and the holes in the short boards that were drilled in step 18.
Cross sills near the front of the bed are located at 1-3/4" and 19-1/2" back from the front of the bed, lining
up with the second and third bed strip holes. Another cross sill is located at 58-3/16" back, under the rear
edge of the wheel house at the sixth bed strip hole. Mount the cross sills under the boards. They are
held in place by the bolts at the bedside flange. Do not tighten the bolts yet, as adjustments may be
needed.

Install the long boards using 5/16" carriage bolts at the five bolt locations drilled in each board. Your truck
requires 1 reinforcement strip, which can be used at either the 4™ or 5™ bed strip hole back from the front
bed panel (unless one location seems to work better on your vehicle). Reinforcement strips are similar to
the cross sills only smaller and 49-7/8” long, and they only bolt to the angle and bed strip holes—not the
frame. These can only be mounted after the long boards are installed next to the wheel house. Three of
these five bolts use a 1-1/2" flat washer under the wood. Also reinstall the second short board on each
side and the short pieces of bed strips and bolts as in steps 11 throughl14 above. Be sure to allow 1/16"
gap between the bed wood groove and the bed strip on each side of the bed strip.

Note: The following steps #21 through #29 are a guide for locating and drilling the wood boards for the bed-to-
frame bolt locations. Cross sills have the holes in them for the bed to frame bolts. Once the complete
assembly is together and fitted to your satisfaction, you can locate the bolt holes in the wood from the
underside of the cross sills by marking the wood through the bolt holes in the cross sills. If your wood was
purchased with these holes pre-drilled, then skip to step #31 and proceed with finishing the bed wood. If not,
steps #21 through #29 will direct you through the process of locating and drilling bed to frame mounting holes.

21.

22.

23.

Install all remaining boards and bed strips. Be sure everything is square and the gaps are all the same.
Hand tighten the bed strip carriage bolts to secure the wood in position for marking the hole locations.

Mark the bed to frame holes onto the bottom of the boards by tracing the cross sill holes with a pencil. All
cross sills have the hole spacing set at 31-3/4” apart.

The rear cross sill has elongated holes in the mounting brackets. Trace the outline of the elongated
holes on to the bottom of the boards with a pencil. The spacing of these holes is 31-3/4" apart. These
holes will be drilled 73-3/4” back from the front edge of the wood and centered in the elongated hole
marked. Make this 73-3/4" measurement after the boards are removed from the assembly for drilling.

6625 WEST WILSHIRE BLVD. OKLAHOMA CITY, OK 73132 (405)721-7945 FAX (405) 721-8906
www.mar-k.com



24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

Remove these two 6-15/16” wide boards which will be drilled for the mounting holes. Make reference as
to which end of the board was at the front bed panel. There should be four hole locations marked on the
bottom of each board. Measure back 73-3/4" from the front of the boards to locate the center of the rear
sill mounting hole. It will fall inside the outline of the rear sill bracket hole marked in step 23 above.

Double check the measurements on the truck frame and compare to the hole locations marked before
drilling. They must be precisely matched for correct fit.

Drill a 1/8" pilot hole completely through the boards in the center of each of the marked bolt locations.

Turn the boards over and measure forward from each of the 1/8" pilot holes exactly 3/16" towards the
front of the board (refer to step 22.) and make a mark on the top side of the boards.

Using a 1-9/16" Forstner bit, countersink each bed-to-frame location 1/8" deep centered on each of the
eight marks from step 27. Use a drill press for best results. This offset hole is for the 1-1/2" offset washer
supplied in the bed bolt kit. The offset washer keeps the bolt from turning.

To finish this procedure, drill a 1/2" hole through the boards using the 1/8" pilot holes drilled in step 24 as
a guide. Be sure the 1/2" drill is centered through the 1/8" pilot hole drilled previously in step 26, not the
centering mark made by the 1-9/16" Forstner bit. Use care to prevent the drill from walking away from
the 1/8" pilot hole. Take precautions to prevent splintering as the drill breaks through the board.

Reinstall the mounting hole boards and the bed strips. Be sure the mounting holes drilled line up exactly
with the corresponding holes in the cross sills when the boards are in position. Minor adjustments to the
drilled holes may be made at this time with a rat tail file.

If this is the final assembly, the boards should be finished with the coating of your choice at this time.
Remove all boards and finish all surfaces including the ends of the boards and inside of the holes.

Install the front and rear bedside fender braces. These bolt to the first cross sill in front and behind the
wheel tub and to the lower edge of the bedsides. Bolt fender braces to the cross sill and bedsides using
5/16" bolts. The front brace mounts to the lower hole in the cross sill and the rear brace mounts to the
upper hole in the cross sill.

Install the wiring harness into the rear cross sill and up through the rear stake pockets on the bedsides.
(Hint:) To pull the wiring harness up through the stake pockets, feed a wire such as a coat hanger wire
down through the taillight opening and through the rear sill wiring hole. Attach the wire to the taillight and
back-up light wiring harness and pull it back up to the tail light opening. Use care to prevent damage to
the wire harness insulation.

Connect the taillight wiring and back-up light, if equipped, to their sockets. Bolt the bezels to the
bedsides. Replace the bulbs and the lenses.

Place the completed bed assembly back onto the truck frame. Bolt the bed down using the bed-to-frame
bolts supplied in the bolt kit.

Connect the main wiring harness junction and test the lights.

©Copyright 2006 MAR-K Quality Parts L.L.C. All rights reserved.

6625 WEST WILSHIRE BLVD. OKLAHOMA CITY, OK 73132 (405)721-7945 FAX (405) 721-8906
www.mar-k.com



